RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving the Request for Budget Carry Over and Capital Project Funding for the Design, Construction, Staffing and Operations of a Cultural Center/Museum for the Tohono O'odham Nation)

RESOLUTION NO. 01-626

	WHEREAS,	the rounded outland Nation recognizes the importance of cultural history as part of
2		an educational priority; and
3	WHEREAS,	the Tohono O'odham Nation recognizes that many of the Nation's cultural artifacts
4		have been removed from the Nation and are stored in museums in Arizona, out-of-
5		state and in foreign countries and that the Nation needs to build a Cultural
6		Center/Museum so these cultural artifacts that represent such an important part of
7		Tohono O'odham history can be returned to the Nation; and
8	WHEREAS,	the Tohono O'odham Nation recognizes the importance of keeping "himdag" alive now alive the tohono O'odham Nation recognizes the importance of keeping "himdag" alive now the tohono O'odham Nation recognizes the the tohono O'odham Nation the to
9		and into the future; and
10	WHEREAS,	the Tohono O'odham Nation supports the concept of a Cultural Center/Museum for
11		the Nation; and
12	WHEREAS,	pursuant to Resolution No. 2000-275, the Tohono O'odham Nation did approve the
13		request for appropriation for design, construction, staffing and operations of a
14		Culture Center/Museum totaling \$15,191,080.00; and
15	WHEREAS,	the Executive Branch was delegated formal authority to implement Capital Project
16		Funding in accordance with provisions of GAAP (Resolution No. 2000-446); and
17	WHEREAS,	the approved and authorized budget for the Culture Center/Museum Capital Project
18		was \$1,000,000.00 for FY 2001; and
19	WHEREAS,	expenditures from the FY 2001, Cultural Center/Museum Project totaled \$91,960.05
20		resulting in an unexpended balance of \$908,039.95; and
21	WHEREAS,	the total proposed budget for the Cultural Center/Museum Project for FY 2002 is
22		\$990,378.55; and
23	WHEREAS,	the Natural Resources Department, Cultural Affairs Office, Cultural Center/Museum
24	·	Project respectfully requests the FY 2001 balance of \$908,039.95 be carried over to the
25		FY 2002 Budget Period and that Capital Project Funds of \$82,336.60 be appropriated
26		to total the Cultural Center/Museum Project, FY 2002 budget request of \$990,378.55.

	RESOLUTION NO. <u>01-626</u> (Approving the Request for Budget Carry Over and Capital Project Funding for the Design, Construction, Staffing and Operations of a Cultural Center/Museum for the Tohono O'odham Nation) Page 2 of 3
1	NOW, THEREFORE BE IT RESOLVED by the Tohono O'odham Legislative Council that it hereby
2	supports and approves the Natural Resources Department, Cultural Affairs Office,
3	Cultural Center/Museum Project request to carry over the FY 2001 budget balance of
4	\$908,039.95 to the FY 2002 budget period.
5	BE IT FURTHER RESOLVED that the Tohono O'odham Legislative Council hereby approves the
6	appropriation of \$82,336.60 from Capital Project Funding to be added to carry over
7	balance from FY 2001 to total the Cultural Center/Museum Project FY 2002 budget
8	request of \$990,378.55
9 10 11 12 13 14	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>20th.</u> Day of <u>DECEMBER, 2001</u> at a meeting at which a quorum was present with a vote of <u>1,528.9</u> FOR; <u>888.6</u> AGAINST; <u>-0-NOT VOTING</u> ; and <u>[03] ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2) & (3) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48</u>
15 16	Stat. 984).
17	
18	TOHONO O'ODHAM LEGISLATIVE COUNCIL
19	
20 21	Rita A. Martinez, Legislative Chairwoman
22	a cella
23	28 day of <u>Pecember</u> , 2001
24	
25	
26 27	ATTEST:
28	Such and
29	Julianna Saraficio, Acting Legislative Secretary
30 31	20th day of Secunt , 20 01.
32	
33	
34	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham
35	Nation on the 28th day of December, 20 0 at 2:20 o'clock, P.M.,
36	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of
37 38	submittal.
39	Submittee.
40	POHONO O'ODHAM LEGISLATIVE COUNCIL
41	
42	1 Soulle My for

43

Rita A. Martinez, Legislative Chairwoman

4 APPROVED	on the 3/ day of December, 200/
] DISAPPROVED	Alenry a. Diemon
	Henry a. Damon
	EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION
oturned to the Logiclative Sc	ecretary on the <u>3/</u> day of
	•
Dumber, 20 01	, at
Junia Topy f.	m/
lianna Saraficio, Acting Leg	islative Secretary

APPROVING THE REQUEST FOR BUDGET CARRY OVER AND CAPITAL PROJECT FUNDING FOR THE DESIGN, **ACTION:**

CONSTRUCTION, STAFFING AND OPERATIONS OF A CULTURAL CENTER/MUSEUM FOR THE TOHONO O'ODHAM

NATION

MOVED: COUNCILWOMAN FRANCES ANTONE SECOND: VICE CHAIRMAN CAMILLUS LOPEZ

DATE: **DECEMBER 20, 2001**

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	X			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	х			
CHUKUT KUK	1. KENNETH WILLIAMS (Juanita Homer)	124.05	X			
248.1	2. DAVID GARCIA (Mary Audrey Juan)	124.05	X			
GU ACHI	1. CAMILLUS LOPEZ	115.35	X			
230.7	2. ALEX J. RAMON** (Jerome Joaquin)	115.35	X			
GU VO	1. FERN SALCIDO**	94.15	x			
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	X			
HICKIWAN	1. SHIRLEY MOLINA	83.65		x		
167.3	2. SANDRA ORTEGA ()	83.65		X		
PISINEMO 174.7	1. BARBARA SALVICIO (Alex Antone)	87.35	x			
1/4./	2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35		x		X
160.7	2. GLORIA RAMIREZ ()	80.35		X		
SAN XAVIER	1. TONY BURRELL	92.35	X			X
184.7	2. DENNIS RAMON ()	92.35	X			
SCHUK TOAK	1. MARY FLORES	72.25		x		х
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25		X		
SELLS	1. DENNIS E. JOSE	208.05		х		
416.1	2. EVELYN JUAN**	208.05		X		
SIF OIDAK	1. ISIDRO LOPEZ	92.35	х			
184.7	2. RITA MARTINEZ (Nicholas Jose)	92.35	x			
Т	OTAL	2,417.5	1,528.9	888.6	-0-	[03]